MKT 3345: 10am
Quiz Chapter 4
Group 4
1. STP marketing is the process of:
A. Segmenting
B. Targeting
C. Positioning
D. All of the above 

2.  In Market segmentation, the goal is to ______ a heterogeneous market into more manageable subgroups or segments

A.  Double

B.  Increase


C.  Break Down 


D.  Eliminate  
3. Which type of positioning uses an explicit reference to a competitor?
A. Competitive

B. Benefit 

C. User

D. Buyer 

4. Identity, Specify and Select are three apexes of Thorson and Moore’s Planning Triangle that are used in identifying and applying which strategy: 

A. Marketing  


B. Advertisement
C. Promotional 
D. Brand 
5.  What is the purpose of benefit positioning?

       A. To build a distinctive customer benefit that is featured.

       B. To revitalize a brand that has lost its identity in the market.

       C. Discover new uses for a brand.

       D. To create a high degree of internal consistency.

6.  Which of the following is NOT a Demographis?

A. Marital Status

B. Age

C. Interests

D. Income

7. ____________________ is a positioning theme that focuses on a specific profile of the target user.

A. Competitive Positioning 

B. User Positioning

C. Benefit Positioning

D. Repositioning

8. A consumer that repeatedly buys Apple products is known as a:

A. Heavy Users

B. Nonusers

C. Brand-Loyal User

D. Emergent Consumer

9. When a company wants to find what interests a particular individual they are trying to taget which of the following?
A. Phychoghaphics

B. Demographics

C. Benefits Sought

D. Usage Patterns 
10. STP marketing includes developing a strategy through segmenting, ​​​​​​​_____________, and _______________.

A. perceiving, acting

B. targeting, striking

C. targeting, positioning

D. communicating, implementing 

ANSWERS:

1.D

2. C

3.A

4.D

5.A

6.C

7.B

8.C
9.A
10.C
